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R. Hartshorne : Algebraic Geometry. 1, Figure 3.



3 oo

~0 100000

EwLW%S

pw:W —3%,:P=(1:0:0,1:0) € X,0000 blowing up
A:W — S§:F c WO blowing down

— hy,, =Aop ' :%, — S: 01400000







4 [0O00

OO0 1

4 )
>p o b0 HirzebruchDD,h1(+):Zb—>S: O InyOooooo
— S:EbJrl(DDDDDDDDDDDDDD.)

\_ J
Oog 2

4 )

>p 2 b0 HirzebruchDD,hI(H 0 lLyooooo

— h1(+) X > — Eb—|—1

(ot 21t T2, Yo :y1) — (ToY1 : T1Yo : T2Y1, Yo : Y1)

g




5 Oooonnd

\_

rl. Joodoodoodo

L

YNU,~C? 0000 (x,t)

I
WNU,={(x, t, z0:21) € C2x P! | zzy =t}

00000000, blowingdown AODOOOOOOOO.

o

xr
r=24+="opp, U0 ,OOODODOOOOO

iy Yo




2. 00 1000
SO0D0D000000DOO0000OoO,0bDo0o0d S~ Xy

(DD

M:Eb

MO400 C*’0000000000000000O00OO.

_/




[DDDDD
MOOOOOOOOOOO

(@,1) 7 (9,5) = (o, )
Yoz <Cu2 - sz
1
(,8) — (2:8) = (55 )




[3. OO0 2000
Ypr1 0000 (zg:2) 125, y,:yy) OOODO,
To Ty =20:21 =11 = Toy1 : T1Yo
Tyt ThH = To i To

Yo 1 Y1 =Yo Y1

— (376 : 5’3/1 355”27 ?J6 : yi) = (l’oyl P T1Yo P T2Y1, Yo - yl)

\_




HRERERE

] OO0 0,0000000,0000 (2001)
Horl OO OO,000000000,0000 (1990)
[Har] R. Hartshorne, Algebraic Geometry, Springer-Verlag (1977)

Bea] A. Beauville, Complex Algebraic Surfaces, Cambridge University
Press (1996)



MOOODODOO = M ~ X
f b

wa:y :
wyz :
(2

wuz :

Cx2 . Cy2

(a.1) — (y.5) = (1", 1)

c,? — C,?

(. 8) (1) = (1)
Cuz _ Cz2

u 1
(uvt) — (Z,S) — (t_b’ Z)




[SDDDDDD = M ~ Sy,

Yoy C,? — (Cy2
1
(@,1) > (,5) = (01"*, )

Yy (Cy2 — (CZ2

wagt (Ca2 — (CgQ

¢Bz: CﬁQ - Cz2







